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12{ 23 12
10f 2 #VALUE!
3 24 #VALUE!
4] 29 #VALUE!
9] 6 #VALUE!
2[ 19 #VALUE!
2| 8 #VALUE!
1] 22 #VALUE!
12| 8 #VALUE!
2| 8 #VALUE!
1] 15 #VALUE!
9] 8 #VALUE!
10] 25 #VALUE!
4] 30 #VALUE!
12] 11 #VALUE!
1] 19 #VALUE!
2| 22 #VALUE!
10{ 18 #VALUE!
11] 20 #VALUE!
8] 3 #VALUE!
7] 26 7
12| 14 11
5[ 24 5
2| 27 2
6] 7 5
4] 1 3
5[ 21 5
3 27 3
11] 18 10
10] 3 9
7] 15 6
7 2 6
6] 14 5
3] 26 3
2| 22 2
8| 19 7
11] 17 10
2| 21 2
10f 3 9




®)

N

—
N

-
o

w

o N oo B |w N |-

—

—

-

- (=

= [

i~

—

|
wlo|v[k|olvwlo|NN[oR|lwlu|s o v |N|elk o E NS ook v e o fo s




NE—

Sub

Sub O
Dimsaza(12) AsString
Fori=1To12
siza(i) = CdIs(15+i, 3)
Nexti
Fori=1To40
d=0
Forj=1To11
a=Cdls(15+),4) * 100+ CdIs(15+),5)
z=Cdls(15+j,7) * 100+ CdIs(15+j, 8)
g=CdlIs(15+1i,13) * 100 + Cdls(15+i, 14)
If a<=qAndq<=zThen
d=1
Cdls(15+i, 15) = saiza(j)
End If
Ifd=0Then
Cdls(15+i, 15) = s=iza(12)
End If
Next j
Nexti
End Sub



